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o) Yes fur ol Cases. The semiconducter Is Concladed fo be
™ efuilibrium becawe the Fermi fLevel has the same
eter§y Value (it s Gmstant) oS o functin of pasi+ion,

B) V v, X has the same functioned form as the "Upside down”
0f Ec (o Ex op Ev). the SKetches thet Fsllewd weve Cousfructed
taking. the arbitrary reference Voltange B be V=0 ot x=o0,

¢) £ Vs. % is defermined by notimd the Qloye of +he evergy bonds
as o function of position.

d) For eleckrons: PE = Ec- Ef amd KE=E-Ec
TFor holeg : PE= Ep-EBv omd KE= Ev-E.

e) The Sem\ra& Carpier Concentration Uariation Cam be deduced
by ﬂofi‘ma. Ee-Ex Vs. X. Under ef»u?l?bﬁum Ccn.'\c{?%(‘omsl
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) Since: Tndrgs = GUaNE, the generad Variation of Tudrict
Com be deduted by Gonceptually Lsrming the product of the
£ vs. % dependente sketched @ part ¢y omd the m Vs X
dependente sketched M pard e). Under efuilibpium Guditions,
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tnbrnsic silicon  T=300K L= 200 um
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so & will decrease wih \'noweasing_ Femparatwre. Resistance
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